ellerng QsrELiys @Mui® . AAA ey

GTEmRT

2020
Quing) <ifley

-Sigwdésuul Herer Cpyd : 2 wanfl] . [Qurgs wALQUemser : 200

annés@sse LHwasEaer SpssamL oifle@rsmar SUANIOTSE Ligdsayb
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1
12.

13.

w&du syPlejersdr :

Qb5 eflamg AsnEuy Caia AgmkiGausn@ 15 AL RsEré@ aransns eSlamerTUusTis@hs@E auphislu@LD.
Qs fams QsnEy 100 clamasamens Qarar(Herars. el wafiss Gsm _iigupar QeuellansAsn@ule eraem
ellenméaend euflenswns GLib QuppidTaTeoun eTeUMSIID Bentud I QeuUDMISSTETSET 2 ATETERICUT CTETLIENSIILD
sfluniggis Qardrarayd. gGCagib Genpur® Bmuder, sigamer us PO REEREGT Smpaansreanfiliurearild
QgMefsg), sfMwrs o drer Cau@pra eflenns AgnelGenar Qupms Qamerer Gmm@m Gairey Ggm_ridw ey,
eapuil_Lre ellems QzrgLliL wrpils SYLILL DT L.
T cilammssEnsEw e waflsab. arder allamss@nbd Fwionear wHObuarser Carar_me.
2 msEheLw ufla) aarenear QBsL LsssHer cuwg G paauie FHbaea Sewpgarar @)L sdld ﬁrma;ar
er(ws Gauam@Bid. Ceum eranguwyd ellanns GEr@LGe) TEE sl ng).
eSle_smar GNsg s1_L orar, eflenLFFmeT Qan 2 RSEHEE Si@ns sansnrafiuurammd sruuELb.
2 ms@poLw dems@srely Gl (Question Booklet Code) eflengsnaflan @rewrmbd uésssler
2iH0sea simwhgierer QL sHd fa Hdws smen @wweLw ussiwpeaans Cueamalemd @GhHsss
s L Ceaear(h. CupsamLcupen deaLgsrafleo Brsdar @hsms sriLs sadanmd Csraummemtu
<Pleflsensuia GHUG_Herareuny pLcuiysms Copbasrareriu@ib.
gaubeur eflemayd (A), B), (C) wimid (D) eren pres, eflenLsenend Qanam(hereng). Briser siencusatlds @G gxm flwimen
eflen_emuwigp Cairey Qaig) eflenLssrafled @dlegs sm L Ceuam®b. gpenmid@ Cupul L sflwrer eflenLser gm Caareilse
Qmuustss smHeme Briser e sflurang cranm arenss smsddisCan b dlamLaw el psrafid @Ghisss
sm_ L Gauam®b. emiugwmigund em Cadarellsd ¢Cr am allLamwussner CaiposBHas CouampD. 2 misEHMLIL
Qungs wHULuanser frisdr il ssrafle @Hs56 sm_ B sfwnar cilen_saflan sramalismaamu QUIDISSS).
efler_sgneaiie @aiQeunm Gaaed aamafip@n adfld @), @.©) wipd @) e prenE el L RS 2 deTa. e
Caarells® el wallss Briser sfQuear smabd dleLaw @G g aul L 580 w (b fab g smew Bip
@wyemLw upg eans CGuemeilamd @hsss sm L Coaan®b. gabeaurm Csdaelia@n @ HloLows
CaipQshss elaLsgrailed @hlés Couan@®w. m Csaallss gamés@ Cupul L oL wealissmd <ps e
SUDTAIBTES SMmELLEL. 2 smanons fhssr (B) eaaums sfurter eloLwnss smHamd siws Gaeumony

5816 Sm_L Couam(Bib. :
&g ® o YoXo

Bruser eflang Qsreulen apsl usssmsyb BésCar sowag HPssCanr sang. Csiay Cprsda @;_5,5
G)S]arrrrg, Qgrr@u&mm(:u.m .ga)a}@ Gﬁ]m%nmm@mn Ggrrsq&; a'n.l_ﬁmﬁ L) Qmaﬂuﬂm a@m& G&mwsau_rrgj
Ge afll el Geuen

(ggﬂuqa;m sr@ﬁu urrrruugs;n@ eﬁlsmr; Q,slr@u&m smuﬂu ua;&p,ﬂm@ Qpeén edrer ua;spang 2 uCurésgs
Qarerarand. @ess ey, deamg Asnaler aps QLsH@Ib aps s EHlys@anyb GelwssaL rg).
Qs sfleyerr samyliuns DearuppuuL. CaudrHib.

phdle auigalld arBéssiulHarer GHULEET ST (g UTETSTELD.

eNlanemiiugmyiser el wealssmod o arar ellemssailenr Qonss aaraflsmasmu deLgsrafler LssD 2-d
izp@sen 2w s L g erpdl Ariueyb. GespOsear sBgpns @bs HlLfser auphisluGLD.
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1t

Assertion [A] : The free floating hydrophytes Eichhornia and Salvinia in the
aquatic bodies are problematic.

Reason [R] . Since they easily spread and cover the entire surface and blocked

: the water ways. )

(A) [A] False [R] False : d [A] True [R] True -

(C) [A] True [R] False (D) [A] False [R] True

apm [A] ;o Bfle dss@b sraurmsemar méstialur (P&STW  STOT) WHMHID
sroeflaflur  Sifloosele ofsfiug ousEEEE YJUSDHS
FHLBSGID.

smend [R] :  Qevasdar asgfigors Sllear Copuriy epeaugb ugel SCimlLsms
sl Qaig el HLb.

@)  [Alsaup Rlsam (B) [A] &fl [R] &l

(C) [A]l & [R] seum D) [A] geugy [R] &

Plaster of paris is

' 1
(A) CaSO,.H,0 | d CaS0,. - H,0
(C) CaSO,.2H,0 (D) CaS0,.2H,0
unffev &MHg) erenug) 24 GLD.
(A) CaSO,H,0 (B) CaSO,,.zlz-HQQ
(C) CaSO,.2H,0 (D) CaSO,.2H,0
Marble contains
(A) ZnCO; J CaCO3
(C) MgCO3 (D) K2CO3
FOMeUS HeE0l6d (LJGsﬂ:éJ@) 2 GTeng).
(A) ZnCOs (B) CaCOs
(C) MgCOs3 (D) Ka2CO3

3 | ARGS/2020

[Turn over



4, Which of the following two products are excluded from the ambit of GST?
(1)  Petroleum : :

{2 Cotton

(3) Steel

(4)  Tobacco | _

S Gand@only i} /(B) (2)and (3) only.
(C) (1) and (3) only S (D) (2) and (4) only

EGyp sremlLBL Qummersato, Qun@m&m Hmd Gaameusar eunﬂuﬁls&@ggﬂ g,eﬁ]rra;e;uul_l_ _
L @re() CumpLlaer raneu?. :
(1) Qul Gprellwub '

(2 uEsd
(3) e
(4) uyemslened .
(4) (D) wppd (4) LG - (B (2)wipd (3) LLED
© D wpgwd (3) LD : (D) (@) wppb (4) LLED
5.  Match List I with List IT and select the correct answer using the codes given below:
| List I List II |
. App , Use . y
(2) BHIM App 1. For using Aadhar Platform
(b) SAKHI App 2. For Highway users
() SUKAHD YATRA App 3.  For nurturing women entrepreneurs
@ ® ©
Ay 2 - 3 1
Y* ST
- (© 8- 1 2
(D) 3 2 1
Ulguwed I whd LII_I.q_lLlGD II-gg QuamsH &GL.Q QEIT@E&SLIUI_@GTTGTT &rﬂu_lrrm Gﬁlmgmu_!gs '
- Gairey Qs _
L}I_lq_llJGUI _ - LI 1g. 026D II
(a) BHIM App 1. . <ysnm ger e g HaTeng) _
(b) SAKHIApp . 2.  Qp{herermeame LweatUREgGartaaTang)
(0 SUKAHD YATRAApp 8. Quan QsmfiegpeenGeumiiér Guobum iy parerg
@ b ©
Ay 2 - 3 1
- (B) 1 3 2
C 3. 1 2
o 3 2 1

ARGS/2020 I . -



There 1s an award given to the best coach in sports. What'’s 1t called?
(A) Arjuna Award :
(B) Rajiv Gandhi Khel Ratna Award

M .D-ronacharya Award
(D) Dhyanchand Award

eflemerwim’ e WaF SmbHs uuﬂg)é]mrrm@&a;rrém e(mg) @sa'rgj mgwe&uu@eﬁmgpgﬂ SISO

GTEURUITM) SILPLILITTEET ?
(A i eNmE
®)  Brrsdc srps Cad rhent Awg
(C) gCyrawmasmflwm adl(ms
(D) - swren sp5 B!

Which one of the following ethnic groups does not belong to India?
(A) Negrito Race : M Caucosoid Race
(C) Mongoloid Race . (D) Mediterranean Race

Yeneu(mLd Qas@peiler @pHw Germbisatied al;ULﬂg‘)@IGTQ]?
A)  smuy Qand - = ; B) &srCséwr @anbd
(C) wrGameflwit @ed D) wsHws semrss e @arnd

The Headquarters of the north east Frontier Railway in India

(A) Bombay (B) Chennai
M Maligaon (D) Delhi
@ndlwireilen auL_&ls e erevaneCuimy @ruieGeuullen senaventouwisd
(A) wbeu (B) Qserenan
(C) welsmen ; D) GQLeved
5 ' _ : - ARGS/2020
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~ Match the following river systems with their rivers :

(a) Indus River system 1.  Panch ganga
b) Bi'ahmapl1t1'a River system™ 2. - Jhelum
(c) Godavari River system 3. Bhima
(d) Krishna River system 4.  Sankosh
(a) (b) (© (d)
(A) 4 3 1 2
(B) 2 3 4 1
©) | 4 2
M 2 4 1 3

r_cﬂana.l@u) %3 an@uuﬁmm Sieneusaticn Eg}as(zmrr@ Qun@ggﬁ
(a) @5 pd OsmELly 1 LIGHE BBIGT
(b)  Grbwysdyn b AsmEiny. 2. ghaub |
() Gsrgreudl p6 CsmEiy 3. Swor
(d) dmagenrm mS AgmELL 4
(@) b © @ -

FGCEray

(A) 4 3 1 2
(B) 2 3 4 1
© 3 1 4 2
D) 2 4 1 3

Arrange the following mountain ranges from north to south and select the correct
answer using the code given below

1. Karakoram range

2. Ladakh range.

3. Pir-Panjal range

4. Zaskar range _

(A) 1,2,3and4 B) 2,1,4and 3
(C). 2,1,3and4 J 1,2, 4and 3

Epésdn. weoROsT_Tsmer w &g Aspsns allesuu®sd. £Cyp GstdésiulGarer
el LuaLBsd sfurea ufow Gﬁﬂg@g@%@qm

1. smCsmrb weasGgrf

2.  eLnré wawsAsTLF

3. Sturenge wepesEST [

4. grevsTi wanesbsT i

(A) 1,2 3wpmd 4 _ By 2,1, 4 wpmb 3

©  2,1,3wpmid 4 M 1,2 4wdbmod3

1
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12.

1

Which factor was closely responsible for the decline of the mauryan empire?
(A) Asoka’s pacific policies

(B) Pro-Jain policies of Asoka’s successors

(C). Revolt of Pusyamitra

d Asoka’s policy of non-violence because it weakened the military and it led to

weak administration

Querflwts Guirdlen eSpEdléE e SMTETONS SDLHSS)?

(A) <=Cansfler siemwd Qararansser

B) =Csraflen cfsCamenpaaer soamismant GurHHwg

(©) yevadlgdyiler sovaid _

D) oCeraflar siafibenss GCararens Qurameusans cuedpsss Qalg Hieursd
augiedlpssa|b euifl 69l L g

Which of the Statement is correct regarding Muhammad Gawan?

1. He rose to prominence during the reign of Alauddin Ahammad Shah II
2 He was the chief minister under Humayun

3 He was a afagi

4. He was executed by a sultan in 1481

(A') 1, 2 are correct, 3, 4 are incorrect
(B) 1, 3 are correct, 2, 4 are incorrect
(C), 1,2, 4 are correct, 3 only incorrect

w All are correct.

WP&Lg seuremar unHlwdd Spaa_cupdle sfwirer sanm 6rg)?
1. @ueLmd sereyfen swg 3T sTsHd awg seurar GrflsdH Qubmeurrs
Qopsi

2. ablwryer sresdld @eur s wrHMwns @ mbsmT

3. (&g seurern @ SUTEE
4. 1481 g Yy FOFTEITD (WPSHG Seumen FisdledlL LuLmr

(A) 1, 2wl @wesf, 3, 4 sauprang

(B) 1, 3 wl@wef, 2, 4 sgeuprarg

©) 1,2, 4w @wesf, 3 bl {Hb supreansg
D) marsgb sflwreng)

7 ' ARGS/2020
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13.

14.

15.

ARGS/2020 . 8

Which one of the.following 1s not correct about the extent of the Indus Valléy culture
and civilization?

(A) Whole of Sind (B) South Punjab |
(C) Buluchistan M Ganges Valley

e%@a;a;emusumgjm élg;gj gwGleue) uamurr@ O Hr&fs a;muurjulﬁlsa'r Sjerey uDHw g;sug)rrea'r
an;o@; T ?

(A) fibg (p(peugIDd . - (B) Oz wepenls

(€)  uadevgrer . (D)  shwss soQeuad

Indian constitution was adopted on
~ 26th November 1949 : (B) 26t July 1949
(Cy 26th May 1949 ' (D) 26t June 1949

@ irdlwaaentoliyy qﬁ;g;é;@&;rrﬁmilui_i_-_gj
(A) 26 panbui 1949 © (B) 26 g9ma 1949
(C) 26 G 1949 : (D) 26591949

Accordmg to AK. Gopalan Vs. State of Madras case which of the following Act was
challenged as invalid?

(A) Madras land Reform Act 1961

Preventive Detention Act 1950
(C) Kerala Agra‘rian reform Act 1961 |
(D) Madras Devadasis {Prevention of Dedication} Act 1947

A K. Gsnurever whmid wggeev wrhlosdbda Cuwner cupsdd Speurmouameaubpier GI'IT_Bﬁ
FLLLD Seumneng) ereim SnUUL LS

(A) wa e Blev Exanwiiy sl b 1961

B) s sTae s Lib 1950

(C) Gapenm aﬁmnu Syenotiy s 1961 _
(D)  wsrrev Cseusrdl (SHUY wHmLD ;ﬂr‘mmﬂuq) s ib 1947

L



16.

i 7 {5

18.

L}

The directive principles of State Policy are placed in which part of the Indian
Constitution?
M Part IV (B) PartV
(€) Part VI : (D) Part VII
Qpdu snflueewvudber apsl ugdulle s aflen (@ CApdupans Qsrarmssar
@)L wQupmereran?
A usdlV B) uvedV
©C) uvedVl (D) ued VII
How many fundamental freedoms are guaranteed by Article 19 of the Indian
Constitution?
@ 7 | I
€ 8 M) 9
@pdu  spflueevidber  awss 19 agseer  olueL  sshAgEs®er
2 S5 reunsLailsEdng)? '
@ 7 _ _ B) 6
©: 8 _ D) 9
Who Stated, “ Indian Constitutidn is first and foremost a social document”?
G Granville Austin | B) Pylee
(C) Motilal Nehru (D) None of the above
‘@i sirflweenoliy, @gs’u LOHMILD @gwm@una&. S FAPS YOURDIGLD 6Tl
Ga e wimm?
(A) . Syanelled pevig e B) aud
(C) Curdemred Crm D) Cuopamdwu ergayblvame
9 ARGS/2020
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19.  Match Last I With List II and select the correct answer by using the codes given

: below
: LlstI | : -~ List Il
(a) Silk Industry 1. West B(;ngal
(b) 'Cott.o_n Industry _ 2.' Tamil_ Nadu _
(¢) Coir Industry : 3. --Maharz'sl_shtra _
() Jute Industrsr o | 4-. -‘K_erala _

@ ® © @ .

2 3 .4 1

® 4 1 3 2
© 1 3 . 2 4
@3 1 2 . 4

wligwed I Log)guu: Lli_lq.UJGO 1-oouws Qunmsé ggpaGlasrr@aaauul_@mm @@US@&;GMT
uweatu(BsSl arﬂu.lrrsn‘r eflenLenws %np@g@esa; '

LJL_I.q.I.I.IGD I ' S ulque I
(a)l' UL G\gﬁ@rj}&ﬂ@@ 1. GLomH @ eukiEFeTD
- (b)) umsH Qgﬂ@ﬁ)ar‘rﬁ)@ C 2. sllpmsaim
()] .asuﬁli;m Qg,n@;j)&rrmeu. 3. wsngreqlggr '
@) sawd QmpsTanes 4.  Gsgorr
@ ® © @@
(A) 2
By 4. .
© 1
3

3
_1
3
™ 3 1

4 1
3 2
2 4

2 4

ARGS/2020 o 10 _ o =



Match the List I'with List II and select the correct answer using the codes given below :

List I ] List IT
Goods ' GST rate

(a) Household necessities 1. 5%

_' (b) Computers and Processed food 2. 28%

(c) Capital goods and industrial 3.  12%
Intermediaries

(d) Luxury items 4. 18%

(a) ®) (0 (@

@A) 1 2 3 4
B) 4 3 2 1
©) 1 4 2 3
w 1 3 4 2

uliguwe I wogd ulgwed Il-eew Qur®pss ECL&CarRas Ll Rerer sflwurer eflenenw

Cairey Q&is.
U iquied I _UI;Lq.UJéU I
QungL_ser eeravig. S
(@) oL@ agélmrrasﬁu;iu QummLser JEE 5% '

o

(b)) sefluQurd wHmIL LsLUGSSLILL L . 28%

2_GRTEY CUENSEHET _
(©) epasear QUTHLEET LHNID M 3 12%
Qe Blenels GumpLaer

(d) < wurd Qurmlger 4. 18%

() (b) () (d)
@A) - 1
B) 4
© 1
D) 1

W v W N
b W o= A

11 ARGS/2020
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21. - Where did the revolutionary Ghadar Movement of Punjab started?

{A) London I (B) Paris

(Cy Tokyo | d San Francisco
uesEmilw yrlflagwnie ‘&&5T QIUSHD’ 6THIE, HlIeuRSIUL L g)?

(A) eamen _ - (B) unitev

(€) CLIGHGWH | (D) sen DynendenvCam

22. As a symbol of Swadeshi movement, a national college was started in Calcutta and
it’s first principal was ’

(A) Chandra pal _ w Aurobindo Ghose
(C) Sankar Mukerji (D) Devandra Nath Datta

5C58 QuissHen BievLWNMONS S0ESsTED TNEsLCC Calw &.ebgnrﬂuﬁl@ PSe.

(PSEVENT <2, 6UMT,
(A  spdrumed B) n9BCar Carey

() smsh s (D) Cgleupdlr mrg s58m

23.- Who Organized the East India Association in London?
(A) Raja Ram Mohan Roy
(B) Surendranath Banerjee

(C) - William Vetterban
w Dadabhai Naoroji

- oarLald Hipse @b @LmeUmu' a@mnés-élu.lmr'r Wi
(A)  @uegr pmid Guomse gy |
B)  sCopdoprs umenied
(C)  eNevedluny Ganl i fueh

D) smsTuL @pm@ﬁﬁ@

ARGS/2020 12 : o p



24.  What was the Chief outcome of the Santhals Rebellion of 1855?
(A) Got the right to revolt |
(B) Free from slavery system
M The Bengal tenancy act was. passed

(D) Santhals settled in Calcutta

1855 =yib yer(d shsneisaier Lyl 8 epowns QuHD poeemwwirar Ardueen eTeen?
(A) G’ulrrr;rr@mg;;b&rrem 2_fewew QuppTiser

B)  sigew anuiler @mbg eNBeNssruL L e

(C) aumster Gyuflanw L 1b 2 (Heunes

(D) spsrerser s0essM6AO G5 Cuidlert

25. Natarajan Annadurai was popularly called as Arignar Anna by whom?
w. Bharathidasan ) (B) Mahatma Gandhi
(C) E.V. Rainaswamy_ (D) Bharathiar

BLJTEGHT SIGRTERTTEID T DD GHIT TR GTEHD) PSS EUT WITT?
A) umdlsnger (B) warswr smhs
(C) m.Gau. gmwamb : D) umgHwn

26. The non-brahmin movement was started in the year

A 1916 ' (B) 1918
(€) 1920 (D) 1922
Qe DHOMF QUISSHD —— b D4aT(H), TOESSILLLF).
(A) 1916 (B) 1918
(©) 1920 | (D) 1922
= 13 , ARGS/2020
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27.  The first self-respect conference held at Chengelpat under the Chairmanship of
" (a) TM. Nair - ' |
d W.P.A. Soundarapandian
'(C) ' TR. Venkatarama sastri
(D) Annaduxjai

| - Qemispuilind @arg gmw@mmuﬁlw (PF® aau.uwtﬂurranga u:srr;r)rr@\ pngggj?
@A TM. BT |
(B) W.P.A. G]&mpélﬁuﬁeﬁutq.tueh
© TR.Gauisi o sreodi

(D) semammigieny

28.  Who presided over the Madras session of the Indian National Corigress' in 19277

(4) Badruddin Tyabji - - (B)  Annie Besant
w Dr Ansan _ ' (D) Subhash Bose.
1827 QwLymeiv-6v .r_ﬁcm_@_ug')m JOLY A Gg;ﬁ_m STl g& & MmO ;g,mﬁja'i]meuﬁ LT
(A)  usmden Slurig B) oEaQusan
(C) -+ Lrg. syeman : D) suney Gumay
29. . the Moorish traveller wrote about the condltlon of Tamllnadu during
. Muhammed bin-Tughlak. ' : |
w Ibn—Batuta : (B). Marcopolo
' (C) Ptolemy o (D) - Livy
eremp apiilen uu_lmﬂ Qpa;mmgd -llen giGans ST S guﬂgp_asgglm HleveouSlenen
ngﬂsu 13 Gﬁ]mrﬂg,gjmmnrr
@um LIGNST . (B) wmi&GarGurGean
©) Ll | . (D) el

ARGS/2020 14
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30.

31.

32.

1

- “Vadavengadam Thenkumari Aayidai Tamil kurum Nallulagam” These lines are

mentioned in which Tamil work?
(A) Thirukkural : M Tolkappium
(C)  Silapathikaram (D) Manimegalai

“auL_GeurusL1b Qsengofl ule & g,ﬂgp smb o@D’ @bs cuflaer aThs SO Hreded

G@OUEIL LU Hereren?
(A)  dmsener (B) Qsrésrubwin
(C)  Aeuudsmrbd (D) werllGusme

Which among the following is not correctly matched?

(A) Tree-ring counting — A.E Douglas
~(B) Varve dating — Baron Gerar de Geer
w Glacial varve sequence — W.F. Libby

(D) Carbon 14 method — W.F. Libby

Ylesreu(meueeummer erg) eflwnsl QummssLILL efdamen?

(A)  wyeumerw saTES®) — G LTihaTeny

B) a6 sres sanfliiy | | - Gugern Qs 1 &
(C) uwealws eurmeu euflens - Ldemyy, erest el
(D) smruen 14 5iﬂ|_'JU@|_'J|_Jrru'_Jeu_ wpen —  LibeTuy 6ol el

Who was the Roman writer who made reference about the Pandyan kingdom in

" ‘Tamilnadu?
(A) Megusthenes {) Strabo
(C) Pliny (D) Augustus

slpassle L wirseter & GNlss saeuasamen er(pdluerer Grmwmeiwi wmi?
Q) Qusevseafev ' B) vgyrCun
(C) QGeflesdl D) sisevLev

15 ARGS/2020
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33

34.

35.

ARGS/2020 _ _ 16

Brindha secures 85%, 86% and 84% marks in the test papers with 100, 150 and 200
1'essecti-vely as maximum marks. The percentage of his aggregate is '

84.88% ' - (B) 72.61%
(C) 64.26% (D) G1.44%
Qmpst eremueuit 100, 150 womid 200- sdsuls mg‘,hl@u@a;é‘rrra;é; Qs Caralled.
aperpGw 85%, 86% wnmib 84% CAupmn erafld euflen Qwrss Csrdd sseligd ereamen?
(A) 84.88% : (B) 72.61%
(C) 64.26% D) 61.44%

Which is the perennial river in Tamilnadu?
(A) Noyyal River (B) Cauvery River

(C) Vaigal River ' d Thamirabarani River

SOPHM g6 “aunnre e BE” eTenn SiePSHLOL L o517
(A)  Qmmined s - (B) srelfl om |
(C)  evouens ymi (D) srBigurent) <pm

Out of 13 major ports in India, the state has three major ports ' ,
and

{(A) Nagappattinam, Ennore and Karaikal

W Chennai, Tuticorin and Ennore

(Cy Poompuhar port, Visagappattinam and Nagappattinam
(D) Tuticorin, Nagappattinam and Karaikal

@lr_'r,,é,]mrraﬁlsii 13 g,j@gj@p&@&ﬁfﬂ@b: SOPHT g6 3 gHdnDIPsSHIEE Qulw SIODAPSHLOTS
SmSULSns. , wHmH ———

(A) ;I;n&;LIlJLLLq.Gu'ILb, STERTET LOMDILD STEDFEHEME

B) Geemanen, SNEHSG g DOMWD GTeisTemT
(C)  bUsTT geppstd, ST 1g @RTD WHTHID HrSULL gD

D) 5856y (l'_l')l'l'&LlLJLi.li}.@'lLb WHMILD STEFESSTED
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36.

37.

38.

1

According to UNDP-Report 2015. In India, state ranks 6th in Human
Development Index (2015).

(A) Punjab (B) Kerala
w Ta_miI.Nadu (D) Gujarat

psdu prPsaler aweiédls AL sifsms 201561 Ly, @rdwuredd g Lo wals
Cubum’ () <L Leuemenr (2015) b g 6aug @)L s 2 crarg)?

A)  ugpeml (B) Csyenr

©) sppr® - D) ey

. 2 s
In an A.P the sum of first n-terms is on, + Sl . Find the 17th— term.

2 2
A) 664 ' @f 84

© 748 | (D) 48

2
@@ sl (g Qs eauflemsuller s n-2muysafler sm@Bso 5%4_3%» aafle, 17—eug

2 MUENUS SHTeRTs.

(A) 664 (B) 84

(C) 748 , D) 48

Find the next term : _
156510 1'9, 2O

S 4 | ® 43
C) 42 D) 40
SIS QuU(HLD GTeRT WG ?
1=6311719,29; .....:..
A 41 (B) 43
C) 42 D) 40

17 : ARGS/2020
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39.

40,

41.

ARGS/2020 18

A can complete a work in 12 days. B can complete a work in 20 days. A and B
together work for 3 days after that A left the work. B can complete the remaining
work in o _ :
(A) 9 days ‘ - (B) 11days

12 days (D) 13 days

A om Cauamwamu 12 prlsefle apgwm. <Gg Goumaew B, 20 prlisefledr gpulun,
A vpgw B Gsigl 3 prisdar Gaume Qsugdean A GQsary efilint. Sf Georoaerw .
B @pigs56 Cganeu uu@m B &HET -

(A) 9 prlaen : (B) 11 pucser

(C) 12 priaen _ (D) 13 pulasen

Two pipes can fill a tank in 30 minutes and 4¢ minutes separately. Third pipe can
empty the tank in 24 minutes. If all the pipes kept open then tank can be filled in

(A) 45 minutes (B) 50 minutes
60 minutes (D) 70 minutes

O GsTigeow Q0 Gprnisd geigsaliCu weanGu 30 AUl dsd, 40 HlCmise
Ariydpg. wHOpTE Gerw $i Hroduw Asryew 24 SVl gd sredl Gaiud. Agmiy

snadluns mssl Bbapeng @gnu&@m «@Cy &Lou_l,sﬁleu flopg Al red gGsmy frbu
Cosamauuw Crrw

(A) 45 POL_raser B) 50 ;_ﬂr.élu&a;ch
€) 60 Hruaer D) 70 Al ser

The ratio of the volume of a cone, a sphere and a cyhnder if each has the same
radius and same height is

m’ 1:4:3 ® 1:3:4

4:3:1 ' D) 3:4:1
SLOTET D HHILD 2 1IN0 2 @ SaibLy, GCaEremb, 2 (penar pfwaupdlar &ar emeysaficn
eidlgin . '
(A) 1:4:8 B 1:3:4
(C) 4:3:1 _ D) 3:4:1

1



42.

43.

- 44,

11

Find compound interest on ¥ 12,600 for n = 2 years at r = 10% per annum

compounded annually.
(A) 15, 246 B) 2,466
2.646 ' (D) 1,386

g T 12,600, e eullg eigbd r = 10%, n = 2 D arhiser, AamH&QETm wWwen eully
SETEE LU LT, gl (h el lg Wi STens.

(A) 15, 246 (B) 2,466 -

(C) 2,646 | D) 1,386

The difference between compound interest and simple interest for ¥ 8,000 at 10% .

per year for 2 years is

A) T 75 M z 80

(C) 85 D) % 100

T 800061 10% eully eisd @rqnE oefld 2 Jamhsafld i@ awlysen saf
GJI'_Lq.éS@L.b 2 _arer e95H T

@) 75 L @) e B0

€ 85 (D) % 100

The difference between simple interest and compound interest of Rs. 18,000 in
2 years is 405 then the rate of interest is :

@A) 10% J 15%

©) 20% _ D) 25%

'@. 18,0006@, 2 eu(hHL dal_ (B eul_lg wHMI Sefl eul_igullen elsHuwimgid ¢p. 405 arafléd ajl'_qaﬁg,l.b

él_'ainm?
(A) 10% B) 15%
© 20% : D) 25%

19 : ' ARGS/2020
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'45. The product of Arun’s age (in years) two years ago and his a.ge three years from now

1s threce less than thrice his present age what is his present age?

Js - (B 4
© 5

D) 6_

sgefler sHCuimsu auwder apeny LLLCHTH 3ow siissnd deLlius simeten

@il H (Pheegw umsUb apapranadr  Glesw  auesun . Qumss

HenLLugnE swib erefler Bymantan sHGCUT@SW euwF) ?

@ 3 | ® 4
© 5 . D os
46.  Find the value of 75983 % 75983 - 45983 x 45983
. 30000
(A) 45983 | & 121966
(C) 120669 (D) 121196

75983 x 75983 - 45983 x 45983
30000

(A) 45983 (B) 121966
©) 120669 - (D) 121196

- wHOL srems :

47.  If (x + I)x + m)= x? + 4x + 2 then the value of 2 + m? is

.ﬂ( 12 | . B) 4
(&)

48 _ ' D) 14

(x+x+m)=x*+4x + 2 aafi® > + m® én iy
Ay 12 B) 4
€ 48 - (D) 14

ARGS/2020 . 20
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48.

- 49.

50.

il

How many barr body is found 11 normal women?

M One : _ (B) Two

C) Twenty two o (D) Twenty three
Bweduner Queamgeaties erssenen unT _aguuqa;fsh- 5nw@u®a€1e&wm?.

(A) . gemy _ _ B) gyean@

L © BousdGrend D) @oubgepdn

‘Holandric genes are called .

(A) carried by X chromosomes

(B) carried by autosomes _ _
w “carried by différent parfs qf Y chromosomes

(D) carried by X and Y chromosomes

Capmeoresm & sfemsan ereuig - 2L(GLD:
Ay X GEERGEENLET QeweudssiLGEns

B %LGL_FFG&ITLD&SGTTNGD@&M@u@%uu@éﬂp@]

(&) ,usuGGurcm udlaaticn o.crer Y @Gun@mn(ﬁ&nm&;mnw G&mmu@gguu@eﬂ S
(D) Xwbmb Y eCrmGunGsmbaseanmd QewduRsstu@Spg

-is not a living Amphibia.

(A) Siphonops o | ﬁ Eryops
(C) Hynobius : (D) . Triton
eTemLg) e Ui Q@mn@sﬂseﬁ BIDE.
(A)  esuaTUe B) aMGwmien
- (O) eepwGamiwen (D) g fl_mer
21 : | ARGS/2020

" [Turn over



- 51. Two capacitors of capacitance 3uF and 6 4F are connected in s_erie's combination.
Their equivalent capacitance will be

Jl 2uF . (B) 3uF

(C) 6uF. _ '(b) 9 uF

Qren () Qanambaeien Qanasmenw 3 4F whmb 6 4F . oimauseflen Qg GaamiGe, swer
Q& meimanLD eTeen?

A 24F .®) 3uF

(C) 6uF ' g (D) 9uF

52. Newton's law of gravitation states that

@ F-Smim . ® FeZmm
ER T
ﬁgl'_l..soﬂeh i) 60 |

e - ® F=Emth
© F-Zh | @ F=ty

53. Who is the Tamil poet received the Yua puraskar award for the year 2019 by
Sahitya academy? ‘

(A) Vairamuthu d Sabarinathan
(C) Piraisooden (D) Na. Muthukumar
2019-yeimg Harer sTESL HQS1 anpligid wjar Lgevsat eflmg Qupmerer SUD sellgyT
LHTA? )
(A)  eaunupss) (B) sufipngen
(C)  Yemm@enm - _ D) B apsmEELTT

- ARGS/2020 22 | | =



54.

56.

L}

The chairman of the fifteenth finance commission of India

(A) A.K.Chanda K.C. Pant

(© Y.V.Reddy 0{ N.K. Singh

Qndwurellen uemarbsreug Hldlé @peilear aneaeurr

A) g.Cs. smgm B) Cs.8. uns

(C) eu.eil Qrlig (D) eren.Cs. Sl

“A State in which the value of money is falling : and prices are rising is called”
J Inflation (B) Deflation

(C) Stagflation - (D) Recession

LewTé &l e mﬁuu sﬁg;&é]mml_p@ Qemama (HEGL @@ WLMHo, STus eT@aEH
&u.:rreﬁmmeo‘r '

(A) uewreissD (B) uewreur L

(©) G;_r_,é;&b (D) wvpsHae

The Name of the launching vehicle used to launch Chandrayan-2 is

(A) PSLV af GSLV MKIII

(C) GSLVIII (D) PSLV-C45

spgymwer-2 g QFss LwearuBSsLuL L Qeass) eunsanser Guwi

(A) PSLV (B) GSLV MKIII

(C) GSLVIII : (D) PSLV-C45

23 ARGS/2020
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57. Match the following Aluminium _p]ant_.s with their place of location :

(a) BALCO 1. Metturdam
(b) HINDALCO 2.  Korba

(¢ MALCO 3. © Koraput

(d) NALCO 4.  Renukoot

@ & © (d)
4) 4 2 3 1

€y 3 1 4 2

D) 4 1 2 3

GamreumLd ieplefln Qgmiflberanagamer gmﬁ)@eh@@uﬁh_ggu_é&r Cummegis.

(a) BALCO 1. CoC G

(b) HINDALCO 2.  Ganfum
{(c) MALCO 3.  Gamymuyl
@ NALCO 4. Crapésmi

@@ . ®  © (d)

A 4 2 3 1
® 2 4 1 3
© 3 1 4 2
® 4 1 2 3

ARGS/2020 ' 24
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' 58.

59.

60.

LL}

Jawaharlal Nehru -~ (B) K. Kamargj

?ch Indian Jeader laid the idea of Secularism in the mind of the people?
(C) M.K. Gandhi : "~ - (D) Rabindranath Tagore

@ndwursilen eThE Geneal n&aEeT wandHlc swEsTMATE eTeRm S(HSHmaTT USSSTT?
(A)  =peuanieme GCram B) K smogogy _
(€) MK anpdl (D) @nasSoprs ST

Which language was identified to locate the Indian civilization within the
boundaries of British India? '

(A) Pali ' (B) Prakrit

G Sanskrit. | (D) Tamil

Glges QBHu  ooesss  GBdu . pn&ﬁsgﬁmm sar_fu  eaps  Qumd
S wrerinRssuulLg?. - -

(A) umed) - ' _ (B) YgndlEgw

€) sodpsd o D) sHp

Who studied comparatively Buddha legends at the life of the Jesus through Bible
and Buddha Jataka stories?

(A)_ Arthur A. MacDonnell

(B) A. Berriedale Keith

(C): C.M. Bowra )
D. Maurice W1nterw1t.z

W USs mnsss sogsememud eudbeanyd e G @Guseier surrg_:eﬁlmmum usst

 updlu FIDLCURISATULD HHIHSIT?

- (A) s er. Q&QLTend

B) . 9050z &5
(C) &lemnb. Quiergr
D)  Quarflev efemihL 6
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61. What 1s the correct chrb_ndloéy of the following events of Ak-b'ar’s reigﬁ?
L 'Cohquest-of Malwa - |
II. Abolition of pilgrim tax.
II.  Promulgation of Din I Tlahi

IV.  Construction of Ibadat Khana at Fatehpur sikri

j 1,11, IV, III . | B) 1L, 1,1V, Il

(G ILIV,LII ‘ o @ 1V, I, I, 1II .
Seeu(id Hapeysafie eﬂ%ul;g,] ;@;&luﬁléﬂ sunen aufles srgj?'
[.  wreheun G]au []is) |

II. mnggrﬂ.asﬁesmﬂm suflenw LS50

III. gen-m-Gerafleawu GrsL e L@sss®

IV. uGsytHsMis Quusssrarma Shonalsse

(A)- I, 11,1V, I | ®) II 1,1V, 1
© UL, LI @) IV, I II 101

62. . How was Sultans of Delhi called?

w Ashvapati (lord of horées) .

(B Gajapati (lord of elephants)
(C) Ganaﬁ ati (lord of class)
(D) Narapati (lord of men) |
Q_eévell mgmf GTOURUTTY GOSN L_TT?
@A) sesend (Gh@rsaa smas)
B)  sgud (wneensatien gmmmft)
(C)  sewrud (@mrmg;mﬂsisr Senevau)
D) poud (welsfen sencseui)

ARGS/2020 o 26
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63. ‘In a situation of political breakdown in the state the Governor should explore all the

64.

65.

1

possibilities of having a majority Government’ was said by
Sarkaria Commission (B) Santhanam Committee -

.(C) L.M. Singhvi Committee (D) Rajamannar Committee

“‘orflosdle ordua a5psdl gpu@b Curg wrle L EEHT, QU@mBbUTEEWL TEDETaT
MGG FTHSW sEmmsemerud 2, rmw CeuarT(Hb” eremm) dadlweur

Q) esrarflur G (B) spsnend GuW

(C) L.M. Sirue 59 (D) grgwereniT G

Reservation of seats in Panchayati Raj for SCs/STs is according to which of the
following articles?

W Article 243 (D) - (B) Article 243 (A)
(C) Article 243 (B) (D) Article 243 (C)

Spamauaaupner ahs AHullar S ugsTwsHTTR @wuyseaie SC wpgw ST
Qasgeamasrar @L@8&s0 und sandng? .

(A) Qfey 243 (D) (B) Gfley 243 (A)

€ Gifey 243 (B) D) Gfey 243 (C)

Who is the Head of State in India?
(A) Prime Minister

(B) Chief Minister

(C) Home Minister

None of the above

@pHwreler, 2irélen seneau wmi?
(A)  QGgswor

B) soeui

(C) odargienm e

(D) Cuneadw ergeydlaenc

27 : ARGS/2020
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66. How do you term the employment occuring only on a particular season?

(A) . Open _ (B) Disguised

M Seasonal ) (D) Rural

.@@ GOG L. umeusdlee w GG  Basd Cemeeumilen Bruser  ereucump)
GO AP einsen? _ . '
A)  Hpis : _ (B) wrpGeuL Bl

©) umausT® (D) Hymotyw

67. Match List I with List IT and choose the correct answer by using the codes given below :

List1 List 11
(a) MRTP 1. Maintenance of foreign exchange
(b) FEMA _ 2.  Promotion of industrial peace
(¢) Industrial Disputes Act 3.  Control of unfair trade practices
(d) Wealth Tax 4.  Reducing the concentration of economic power

@ ® © (@

A 1 2 3 4
®s 4 21
(© 4 1 3
M 3 1 2 4

Ul igwen 1 Loggum uligwed T-emw Gun@g,‘é) Sips Glarr@aaasuut_@errsrr GHUGEmer
vwetuBSH sfwrer sle_sow Caibls®mss.

ulywe I Ui uicd 1T
() MRTP | 1. ey Gswanefaw LgmoRsse
(b) FEMA 2. QsmPe v oasgelsse
(o) Qsmfd gsymy sl 3. Humunohy euresfll apeppaenet &L HLILEGSEHD
(d) Qséveu e 4. Qunmerngnry omnd Cedallanan Gamsse
@ » © @

@4 1 2 3 4
B) 3 4 2 1

€y 2 4 1 3

D) 3 1 2 4

ARGS/2020 ' 28 ' : P



68.

L

Which among the following statements are true for the proposed GST arrangements

in India?
I Both centre and State taxes will be collected at the point of sale.

II.  The centre and State GST will be changed on the manufacturing cost. Of the

above, Which statement is true?

Answer from the codes below.

(A) Neither I nor II is true

- (B) OnlyIis true

Only II is true

J Both I and II are true

@ndwrelled wperGumPuiiulL Ceemeu euild L gHUTHsEH&E Waramb SiMl&Eamasafie
@5 2 awTenLo.
.  ewwwppb wrhe aflsda @rar@w sdpuamar CrrsdHa CesfssiL@w.

II. 2.pusd Geealler enww wHMID wBle AummLger wHmb Ceemeu aulfl LTHOUILIGD.

Gupser_eunbe emHs é{ﬂﬁ]&i@&i o ameno erenr EC QaTRSSLLL (HeTer @f)]uﬁ@a;aﬂsﬁl@;ggj

ugle greyb.

@) Iogatoonses [l @geufdomod
B) Iw @ECw 2 W

©) . LG &l

©) L oo I o Glb e mostd
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69. Whi(ﬁh of the following function/s 1s/are p’erforr.ned by the Reserve .Bank of India?
1. Issue of Currency | ’ |
2 | Control of Exchange rate
3. Neutrality of money -
4

Control of commercial banking-

(A) lonly | ' (B). 2only ‘
d,.l,zandz;omy - | D) 1,2,3and4
3955@-}; uenfigafled Mgrey eurad) CunGarergmd Lawfl/se argl/wimenas?
L vempeg eualll@i@gd
2. wryneissms S_HLILGSHSw

- 3. um@;ﬁem BHEmaemio
4.  aes undsamers sL_HUUOSHSD
A\ loc@o - - (B) 2wi@w

1 ) .
©) 1,2 wpmbd 4w Gib D) 1,2, 3whmgbd

70. Who wrote these sentences, “The presence of the Bntlsh in India is an invitation to_
Japan to invade Incha”‘? ' _

M Mahatma Gandhi

(B)  Jawaharlal Nehru ‘

(C) Subhash Chandra Bose
(D) Aurobindo Ghosh
“%ré:eﬂ@%ou.:fra;drl @pHurelsr Qouug. guuralursma Gidurader By LaLQUOEEGSD
Ligwrer Sienlpldsy” eremm cunsShumigeman er(pSent wimi?
(A) LD&rr§ﬁ>rr asrrﬁgl o

B) meanierd Crm

©  suray spSGundd

®)  n9sGsT Ganay

1
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71.

72.

78.

1

Which Chief Minister of Tamilnadu received the Bharata Ratna award in 19547
(A) Bagthavachalam - (B) Kamarajar
' Rajaji . : (D) Omandur Ramasamy

SO DB 1.6 68 (PEwenEsmEE 1954 oD oLam@® ungs rsa NS GJ%QI‘&J&LJULL_Q]?
(A) uspeussD ' B) smoprgT
(C) Qugrgd _ D) . ewigIT Frwsm

In 1884, P. Anandacharlu and P. Rangaiya Naidu found a political organization
‘known as

(A) Madras Native Association _
(B) Bombay Presidency Association’

M Madras Mahajana Sabha
'.'(D) Chennai Jana Sangam

1884 b e 9 dieps FaTg wHmb 9. AgResiur 4r_5rru.;® Qam_rul oréluwsed
FTHS DL eTebaur Sifluduc L g?

(A) Gulgrev Cplyey HCsnfiCuagen

B) ' umbCu IANOLed) BerdHCuwager

(C) Gulgrev waTges sum

(D) " Qsémenan ggarr SR

Which of the following statement is incorrect regarding the 1857 mutiny?
(A) The Character of the Bengal troops was the worst . ‘

(B) The English had control over the Indian seas and this helped the British
_soldiers :

(C)o The Indians were fighting with primitive weapons
The Peasants participated largely in the 1857 mutiny

1857 b &, LT & Liphles £g;5&;mn_ spmsafldr seupreng erg?

4)  aister ueLsefler h1_geog Guoranrangy:

B) <YrdGaw uvmLsdT  QHu Mug@m epslILDOlE - QErem(i lﬁ]l‘ﬂl_LorGIS]:
mﬁ'qns@&;@ 2 sab) CQFiiss

©) ‘@‘5@ WiseT WsLpeowInar oy ShIs @R Gumi G\&u_;g,mrr

(D) eMeusmlsar 1857 uul_éiuﬂm a@mwn&; ukQadsgent
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74. In which year, for the first time Justice Party formed the Government in

Tamilnadu? o
(A) 1919 j 1920
© 1921 (D) 1922

B p&5E6 @gsﬁr@mmmm §£$$L@ <28 Siewwgs e 'Gfg,]? _
(A 1919 . ' B) 1920
(€ 1921 _ (D) 1922

75.  Who played the most rémarkable work on the Home Rule League in Tamilnadu?
Mrs. Annie Besant | -
"(B) Mrs. Annie Joseph
(C) Sarojimi
(D) Muthulakshmi

.g,s‘mmrn'_él Quissb glpasHell(rEg 2 suinns (pédlw &;ﬁgﬁmnw QU wim?
&)  Amwd. sieralQusam | | |
B) PHowd. seafiGyren

- {(C)  #CGrrgdlad

D) wssLQo a0

76. The founder of the ‘Bharatha Ashram’ was _
(A) Rajaji ' Subramania Siva
(C) V.V.S.Iyer - (D) Periyar |

umys povgwsans Genppeisgseur e
(4 @rrgre (B) sulgwesfl Aeur
©) mn.@m.&. oW (D) GQuflwnamr
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77.

78,

79.

80.

Who was the best commentator on the Kural?
(A) Kambar _ ~ (B) Agastiya

W. Parimelalagar (D) " Kalamehapulavar
GweT GHlés Hnns eSknés 2 anyudlanen 2 heunsEweut wri?
(A) sbuf ‘ | (B) misevSur
(€C) ufCwepst : D) sraCusiiy@eur
Who pubhshed the book “Romapurl Ramgal”"
(A) C.Rajagopalachari w C.N. Annadurai

. {C) - M. Karunanithi (D) M.G. Ramachandran |

“Gymomyfl prexfiser” eram miener Qeuefludic Leuit wimi? .
(A) B @umxnGsmurerésrdl (B) &.aen. sicmemngeny
©) @ smammhld "~ (D) enb.g. gmindamdlgen
Who was the author of Temba.vam"

w Veeramamunivar (B) Robert-De-Nobili
(C) Zigen Balg (D G.U. Pope"

- Catdbumeuestluder < Mwiik wri?
(A) eigwmpafleur (B @uurl-g-Grmaedl
(C) Faem uné © D) By CGurd
According to Purananury, who was the head of the learned poets‘?'
(A) 4 Coola Vanigan Sathanar | (B) Mamoolanar
Mankud1 Marudanar (D) Nappoodanar
SHID ;ﬁ i &rrmGg) risafle gepaveugns L{‘l'_l)‘l_l')l'l@][g wnengs @gﬁlunﬁl@él ma?
(A) s enaflsar SnGEeTi B) mn@mwmr
(C) gy Ld@éssmm‘r _ D) poysenn
a3
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- 81.

82.

83.

Which is the Nodal Agency to drive all e-Governance initiatives of Tamilnadu?

(&) ELCoT S B) TAcTV
I TNeGA | (D) NIC
SOIDBI 156 Diwangs) e-Comey HULESMaT SODUDSSID (PSETEND (PELD 6rg?
(A) ELCoT | - (B) TACTV
(C) TNeGA - . (D) NIC
To help ﬁnancial‘ly Rs. — for the orphan girls for their marriage (Annai

theresa Ninaivu Orphan girls marriage assistant scheme) by social welfare and

nutritious meal programme department.
(A) Rs. 50 000 (B) Rs. 1,00,000
M Rs. 15,000 ‘ (D) Rs. 40,000

ae&wms&r Ggpenr Hevanay sienrang Quemmsaflen Smwent 2 galg £ gder apaions sPSTL
BEOET LOHMILD &&6RT6) ﬁl_l_gﬁan SICHMLINGD STDS Qum&mﬂm ﬁ@mmg,g]m@ Qan@&@wn

Qgmens eTeusuaTey ? _
(A) e 50,000  ® @ 1,00,000
O m. 15,000 _ (D) . 40,000

“The award given by “Iyal, Isai Nataka Mandram” is

w Kalaimamam

(B) - Athiyaman

(C) Senthamizh

D) Nadikar Thilagam

Bue, Qos, BILS TP auPhIGW eSims)
(A)  sevevwmwenf)

B)Y fworen

(C) QemsAGy
(D) prst Heosd
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84.

85.

86.

In 2016- 17 accordmg to the dlrectmate of Bconomics and statlstlcs Tarml Nadu, the
GSDP of Tamil Nadu is the

M Second largest economy in India
(B) Third largest economy in India
(C) Fourth largest economy in India

(D) Fifth largest economy in India

2016-17 b ey, sllps Qurr@mﬂmsu LOHMID L.|G1TGTﬂLLIGB @u&@mu&gﬁm Uy,
gtﬂg&igﬁm Qurés wrfle o aBE G 2 HUGS
- @pdlurelias 2- b G g Gy Sgyerans
) - @pduwrelier 3-b GLsms VnssieTars
©  @pdurede 4-ob GLpos Aubgeos)
) @bHwneler 3-gib QILgos iy Sgyerangy

Which position does Tamilnadu occupy in organ transplantation during 2019?
First place L (B) Second place. | '
©) Third place (D) Fifth place
- 2019.-b gy eTig 67 Losuﬂg 2. guy wron Adsesild 58 5 abs @l_g',gco &srrerrgj?
(A sombd L B) Qe b @b
©C) qpepmd @b D) gdsmwFPLw
Human Development Index was developed by the Pakistani Economist Mahbub ul
Haq and the Indian Economist — m 1990. '
j Dr. Amartya Sen ‘ o {B) Dr. Manmohan Singh
(C) Dr. Jagdish Bhagwathi (D) Dr. Arvind Subramanian -
wails GLDLbuﬁL@{i; @gﬂuﬂ@ GTEILIEDS uqeildug;ndl wn e #niihg Qurmatiuic sidlesi wanLL
2 ¢ ané eremicud @pSluneas Geibs ————— sieuia@rn 199060 CuibuBigent.
() Dr. sioifunQsen B) Dr.waGonserfu
(C) Dr.Qgsfey usaug - (D). Dr. sireilps sl mwerilwen
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87.

88.

89.

90.

ARGS/2020 36

What is the condition that threc non zero numbers a, b, ¢ are in Arithmetic
progression.

M 2b=a+c - | B) 2a=b+c

(C) 2c=a+b ' (D) a=27¢

2

epeny Lgdluinpp arainse a, b, ¢ eratuan g s (s auflesuder @mhed Hupsmen

(A) 2b=ag+c - (B 20=b+c
©) 2=a+b - D) a=b;c

The middle term of an finite A.P. 4, 7, 10, ...... 118 is
(A) 55 - (B) 58

I D) 64

4,7, 10, ...... 118 erémp opiyeypy s G3GsTLAd 56 2 ply

@) 55 (B) 58

(C) 61 (D) 64

Arithmetic medn of the values 9,6, 7,8,5 and x is 8, then the value of x is .

(A) 48 J) 13

(C) 15 , D) 12

9, G, 7, 8, 5 Lopmb x%é] weuhBlen sal (B syraf 8 erafled x ér wEUY
(A) 48 : _ (B) 13 '
) 15 o . D) 12

In a certain code, .ALGEBRA as BKHDCQB, then GEOMETRY is coded as
(A) HDPLFUSX d ' HDPLFSSX
(C) HFPLFUSX (D) HFPLFUSZ .

@radu  BISCH epepule ALGEBRA sauems BKHDCQB ears  @hssme
GEOMETRY erenuans ereucunm @ghlésamid?

(A) HDPLFUSX (B) HDPLFSSX
(C) HFPLFUSX (D) HFPLFUSZ

1t



91. Area of rhombus with diagonals as 6 cm and 8 cm is

A) 12 cm? (B) 18 cm?

M 24 cm® (D) 36 cm®

epaaellLuser 6 Qe.5. wHmb 8 Q&.15. QararrL sl sgrsdlen Lyl
(A) - 12 5.Q5.15. (B) 18 5.Qs.15.
(C) 24 5Qs.8. | ‘(D) 36 5.0s.18.

92. What is the ratio of volume to surface area of a sphere?

‘M 3] (B) “8:1

© %:1 o

|

@ Camargdlen san ojeTey LD;j)gij ymuuriy S dlweundler edlflgn eremen?
(A) r:8 ' (B)*3:r

©) -1 @)

O |
W=

93. Curved surface area of a solid sphere is 36 cm®. If the sphere is divided into two

hemisphere then total surface area of one of its hemisphere is

(A) 9 cm? B) 12 cm?

(C) 18 cm® d 27 cm?

e HLsCanarsdear euamariigiy 36 Qs.8.°. wig@ar Q@ iors Camamises ANssTo,
@M r5Ganarsdlen Qunssuriy erenean?

A) 9Qs8° : B) 12 Qs.8°
(C) 18 Qs.8” D) 27 @s.8°

L}
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.94 (a+b)2:+(a~b)2=:

(A) 4ab B B) 2ab

(C) c*+2ab+b® . y 2(32 +b2)

(a'+b)2+(a—b)2=
A 4ab B 2ab

©) ¢*+2ab+b? | (D) 2la® + )

95.  Which of the follo“;ing should be added to make x* + 64 a perfect square
@A) 452 o - J 162 |
. - D ?

(C) 8x* —8x%

%% 164 Qp @ifESLTE LIOD SiBE 6 TaaIHRTIDIIET cTass s L Gaiar@n?-

(A) 4ax* "~ (B) 16x?
(©) 8x? (D) -8x?

96. . What percentage of a day is 10 hours? _
(A) 4617% . - (B) 46.17%
I e (D) 1467%

e prefled 10 weash Cpybd aenug agsamean 855507
(A 4.617% : (B) 46.17%
(O 41.67% (D) 14.67%
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97

ber? .
j 36 B)

98.

99.

Three numbers are in the ratio 3 : 5 : 7 and their average is 60 Find the smallest

C) 15 (D)

12
48

epenm) eranrger 3 : 5 1 7 eranm elldlgsEe o areran. jeumdlen symadl 60 erafled, eubeuamrsatien

WBle&&Hlw erevr wimg)?
(A) 36 (B)
(€). 15 D)

Find the 4t proportional to 4, 16 and 7.

@) 22 ®)
28 | D)

4,16 wpmib 76 4eug) eNl&ls FOD STETS.

@A) 22 | . B)

C) 28 D)

If7:5is in proportion to x: 25 then x is

4), 14 B)
J 35 (D)

7:5 wHmID x : 25 dlg swb erafle x e iy

Aa) 14 (B)

- (©) 35 D)

- 100. Find the LCM of 2x3x5x7 and 3x5x7x11

il

W 2x3x5x7x11 (B)

(€) 3x5%7 (D)

B.Qum.. smewrs : 2x3x5xT, 3x5xTx11
(A) 2x3x5xT7x11 (B)
(©) Bixih <7 (D)

12

48

25
29

25
29

27
49

27

49

2x3%2x52x7:x11
None of the above

2x3%2x5%x7%:x11

Cunsea egiajdlaame
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IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting. to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Questlon Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Jach question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles , , © and @ against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

O} NOXG

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, vou must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

App]icants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to spec1fy the number of
answer fields left blank.

IPailure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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